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69. 7+17
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37.52+-28

893. 2+-44

3.6+12

118. 8+66

23.1+35
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2) ROFEZZVIINBETLESL, (2R % 10%)
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326+-20



45 —9F —3:E—KIE

NTERADHB(HEBERFH

A
K&

H

3) ROFHEZEFVINDETLESL, (2R X10%)
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21.6+24
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508. 5+45
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24+40
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4) 696. 8+52

6) 49.8+83

8) 108.8+34

10)  38.7+43
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5) ROFHEZFVEIINBETLESL, (2R X 10%)
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44, 1+49
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65. 8+-94

162+60

0. 76+-38
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1) ARE—m@E (2K X10%) A =]
1 4.1 2) 1.34 3 1.2 4) 20.3 5 1.12
6) 0.3 7 0.77 8) 1.8 9) 3.4 10) 0.66
2) KiE—MRE (2R x10%#) A =]
1) 11.8 2) 3.5 3) 4.2 4) 0.8 5) 0.52
6) 0.7 7) 10.6 8 0.9 9 2.5 10) 16.3
3) Kig—EE (2R x108) A =]

1) 0.48 2) 0.9 3) 4.18 4) 2.02 5) 5.04

6) 0.4 7) 3.8 8) 1.22 99 0.6 10) 5.4
4) KE—RE (2Rx10%#) A =]

1) 11.3 2) 0.81 3 1.8 4) 13.4 5 7.4

6) 0.6 7) 10.3 8 3.2 9 0.6 100 0.9
5) &IE—ME (2RXx10#) A =]

1) 0.4 2) 0.7 3) 11.9 4) 2.7 5 0.9

6) 0.02 7) 0.4 8 0.8 9) 0.26 10) 0.64



